Setld: 31486 3 6-12-2016 - Batch2 - Group3 For: Rajya Sabha Secretariat, Parliament of India

Section 1 - PART A

MNo. of Questions: 60

1) Below is given an apened up dice. Which of these pairs of numbers will be on opposite faces? /
= e e wrar (sTew) AT T &1 g9 & "t f e €@ e Frod gt 9w geit?

4

A)1and3/isﬁ~<3
B)2and 3/23¥3
C)4and6 /4476
D)3and4 /374

A company decided to recruit Sales Executive trainees. The U‘SF et o ekt sFrerhTer wioreget S st e =7 Hwa T g

gcompany laid down the following criteria for selecting the ‘EIT'JT?ﬁ%@JﬁTch“‘T & =4 % for e aees i G @
?candidates. A. SefrEaTE T 3 70% Gl o AT HWTAH T AR
A should be a graduate securing atleast 70% marks. B. SHATRATE 7 AT TR § 65% 3 6 Fh g

B. should have scored 65% marks in the selection interview. C. SEHTEETE #isft & HTITIETg <61 BT JT1RU

C. should know fluent English. D. swfier i RrfRrer e 3 wr & T 75% s e fr 2

D. should have scored atleast 75% in the written test. ;
' TS et T A A T AT |
In the case of a candidate who satisfies all the conditions : i(i) T § A A T BiEwT, Iefiear ¥ MBA T &, se ara 1
(i) Except A above but has completed MBA, his/her case may T sraer fzer (MD) 51 o7 ST & 21
lbe referrad th the Managing Director (MD). (ii) TULE § ¥ B AT @Iswe, IRAEATE F I HAE T 6T TR 5
(ii) Except B above but has a work experience of 2 years afterja'l'q’ FH Y T 2 T BT HTH AT §, SH HTHET T TP T HAT

fgraduation, his/her case may be referred to the the President. Err BETIR ' '
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Based on the above information and criteria given in each of ITTIT STAHTT T F= TerF Wy H L30T ATFEST F amame 77,
the following questions, you have to take decision. TRy ot ST g

2) These cases are given to you as on 21s! October, 2016. Kamal secured 87% marks in the interview and did graduation’
securing 82% marks. He has fluency in English and secured 68% marks in the written test. He should be:

/
T HTHA ST 21 dagaT, 2016 & Rafar & s fGw o & et = ArerenTe § 87% 319 w0 & 82% et 3 AT |1 i 7T
A 81 A S § grTyATe § o e adter § 68% o wra i 1 a1 3w

A) referred to the President / TTgae & 978 #=ieT =ATiAT
B) rejected / =g FeAT ATRT
C) selected / === &&= ATRT

D) referred to the Managing director / Saeres fR=er & T =747 =TI

3) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.

Orange : Citric acid :: Vinegar : ?

/

gt 7% 19 erer B T §) weer a7 vrer v Rfira ST F Aetee §) R o = St § 7 39 A9 orew A S w5 S A oeg
ST &Y Ty TEaT 21, S97 B ager #iv guy o7 ey v 2

AT wTefesw vfiE o fwr 2

A)  Formic acid / ®iTH=F ThrE
B) Lactic acid / Afa=® ufie
C) Stearic acid / ==ty Tz
D)  Acetic acid / fafes nfie

- 4) What should come in the blank space so that the series formed is in proper manner: 45, 49, 58, 74, , 1352/
T =T & AT AT AR aTies S7EeT qut GrE o 45, 49, 58, 74, , 1357

A) 108
B) 103
C) 91
D) 99
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5) In a certain code, BCD is written as 99, then how is EBF written in the same code? /

= fAfire 52 % BCD 7 99 ¥ w9 # forer sirav g, a7t 3# e # EBF 7 ¥ et sawm? G
A) 325

B) 349

C) 425

D) 445

EXYZ ﬁ‘mﬁm&h%@mwwaﬁ ‘ﬂ?ﬁ‘%ﬁm f—?rlsr
For recruiting International Marketing Officer in XYZ department, the e
followmg conditions apply. W_@?ﬁ%l

(i) 70% &1 % Tre IS[UE AT TR

;(I) Be a graduate with 70% marks. Th % i
| (i) T=T=T ® 60% ¥ A& & I FIAT AR
(iii) Z=T=g % wH & 32 A9 F Y gl ARl
(iv) e & foredt ot wmer & w1 & g e g

é(ii) Should score more than 60% marks in the interview,
(iii) Should be less than 32 year of age at the time of interview.
(iv) Should be willing to work in any location in India.

t

iln the case of a candidate who satisfies all the conditions:

(a) EXCEPT (i), but h k i f6 T ST g T ‘
\a 1), DUL Nas a WorkK experience o ears, then ne wi [+
‘ i 4 ( )f'ﬁ—cl'r:r(o'q* a‘%ﬁmﬁra‘rmﬁﬁw%’mwm
referred to the General Manager.

= TE ST ST

(b) EXCEPT (ii), but has done diploma in International Marketlng,;
‘ : ()%a—mu)ara—ﬁfmaﬁ@aﬁmmq@mmwg
‘then he will be referred to the President.

; Eﬁ TH HAETE F T WS SATOT

In each of the questions below, information of a candldate is g:ven L e it s e e et _‘ﬁw_&ﬁ%l
AT ITEAS FXTE TS FIAHIE q ITLT Ot o AT 97
Rt =T AT § 7 U AT g0 AR T A 01-
101-2016 & AT =7 few 70 1 T T F S AFA g
ST AT R A A g |

You have to take one of the following four decisions based on the !
lnformatlon provided and the conditions given above. All the cases |
are given to you as on 01-01-2016. You have to indicate your!

‘,da(:lsmn by marking answers to each question.

6) Gautam is 21 years old on 01.05.2011. He is a graduate with 80% marks. He is a fresher who is willing to work from any
where in India. He has scored 85% in the interview. He should be / :

01.05.2011 =7 taw $7 @myg 21 =77 21 78 80% ﬁ‘rTﬂT«IQ‘fﬁTxpﬁol ﬁWHﬁﬁqﬂ%ﬁwﬁﬁ?ﬁﬁmﬁmm%%ﬁ
I 2| THA 2oy H 85% e o 21 59

A) referred to the President / sT&=re F 9T 91T STTHT TR0

B) selected / FAT ST = TRY

C) rejected / F&F INT ST AR ,

D) referred to the General Manager / AT & T ST AT F1RT
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7) In a certain code, SKMLPH is coded as UMONRJ. What will be the code of the word POUUIQ? /
= fAfEe F & SKMLPH #1 UMONRJ ¥ =7 ¥ %2 a3 o smar g1 oreg POUUIO 77 e F47 gm?

A) QWESEW
B) RQWWKQ
C) SWQWPO
D) SDERWR

8) Find the missing term in the sequence: 101, 100, 92, __, 1./
F F ATAAT AT 1 F4: 101, 100, 92,

XA
A) 65
B) 28
C) 27
D) 64

9) A batsman makes a score of 96 runs in the 15" inning & thus increases his average by 6. Find his average after 15 innings
/

U geedrs 1541 g7 # 96 TA1 T 17 a=TaT & 317 TH F0 IHHT A FaT 6 T 77 F1a7 21 1537 U F J72 367 06T 57T 74

A) 9
B) 15
C) 12
D) 18

10) A nufnber when divided by 5 leaves 2 as the remainder and when divided by 7 leaves no remainder.Find the number
among the given options. /

T3t e 7 5 71 FArarfSr v 77 2 o aear € i s 36 7§ et fe srar & a7 oo F =9 § g ot T8 awer ) o
g ot W 7 Ay wT e A

A) 154
B) 147
C) 145
D) 174
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11) What should come in the blank space so that the series formed is in proper manner: 3-4-5, 5-12-13, , 9-40-417? /-
Fow wamer ® T ST =TT ATl e wer 9Tey of: 3-4-5, 5-12-13, , 9-40-417 .

A) 7-12-15
B) 7-24-25
8} 712219
D) 6-8-11

12) Find the code similar to A1C3E5S/

fa T #re A1C3ES & StaT s @ifor)

A) D203G6

B) L1119016N20

C) M13A1N14

D) M11A1R18ES

13) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same kelation_ship with the third word as in the manner first and second words are

related.

Copper : Solid :: Helium : ?

; ,

gl 9% o1 erex fow U g1 wger 7 oree uww Afga et @ wafda §) B w = et § ¥ 39 96y s 7 wA_ w7, S e aes
ST & HaY AT g, ST {3 uge 3T gy oee qey T gl

qiET B3 it ?

A) Gas /T
B) Liquid / =7
C) Vapour / aeq

D) Air / a1
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14) P, Q, R, S, T and V are the six members of a family. V is the granddaughter of T. R is the mpther of V and wife of Q. S is

the grandmother of P.There are more than 1 married couples in the family. What is the possible relation of R with T ?
/

P,Q,R, S TRV aRar Fgg aeeg & V T T Ot 81 R, V #t #1 & ¢iw Q it weft 1 S, P fit ardt 1 uftam & 1 % afdes BanfRa

ST 81 R & T F 7 Far wanfae frear 272

A) Daughter-in-law / =g
B) Son / #=T
C) Granddaughter / Tt
D) Wife / et

15) In a certain code, NCHJDK is written as 26, then how is LITRDF written in the same code? /
w fAT%re T2 ¥ NCHJDK #r 26 % &9 # ot st g, 97 341 32 # LJTRDF 7 37 o smom?

A) 82
B) 26
C) 62
D) 36

16) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related. '

Novosti : Russia :: Kyodo : ?

/

TR T At orem R o ) wger 2 orer ww R A 7 wEfET ) Ry T Aw Bt § ¥ 3w A9 o 1 w94 w1, 5 A s
AT & T T g, ST o ager A7 gAY 9w "y T 2l

FATEAT | B FAE 7

A) Indonesia / FEMTIET
B) Japan / 9T

C) Austria / @ffEzar

D) Iran / =719
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17) In a bike race, six boys completed the race at different positions. Somesh finished the race after 5 persons had finished
the race. Rohan finished the race only after Jay but before Sangram. Ramesh finished the race after Nilesh and before
Sangram. Who finished the race in 5" position?

/

T ATEH OF § @ S STeT-SenT ST 9% OF T BT /e 7 AT W 5 sfReal & TF O % 6 aTe QI ATl e § SOt
T A A o O o ATE AT ST & Ugel T AT Ter F s 1o fRerer G o AT et /U 8 Tgel IR S| e aiee e
T | R AT

A) Somesh / GTHYT
B) Ramesh / THeT
C) Rohan / Tr&T

D) Sangram / 5UTH

18) An image is given in the left and a set of three numbered images on the right. Observe and find out which among these
three images CANNOT be formed using exactly the same number of straight lines as used to form the image on the left?
/ .

m%ﬁmﬁh%ﬁ%mﬁ?mﬁﬁ%ﬁﬂwﬁzaﬁﬁwmw%l SATHIEF SR T saTet & o= fiF Ry # & fart &
St & wear B aeer vaer F eewie & w8t @ o1 Awr &, Geedt ar 6w f B i amr & e 6o 3

T AR

A3

B) 2
C) Both 1 and 2 / 1 ¥ 2 Tt
D) 1

9 \ABC #tarwr # viree druert ¥ @i 3 R, frer o e

(i) Be a graduate with 80% marks. Fin :

= : | (i) B0% STt ¥ TTY SO BT AR
(i) Should score more than 85% marks in the Common Entrance;(.) . & e , i
;T t (i) TTRrTRRr SrErgT TEET W 85% ¥ Stfer st U FAT SRl
{Test. ; : = & ‘
- ; (i) FTETET SErer T F wHy Ay 28 a9 ¥ FH T AT
g(m) Should be less than 28 years of age at the time of Common |

(iv) Feveg & 80% T8 B g =i

For admission in ABC College for Post gradhation, the followin
?conditions apply.

%Entrance Test,

é(iv) Should have scored 80% in the interview. i ‘ . -
? i-aansﬁaﬂﬁmmﬁsemﬁg:crwi:
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In the case of a candidate who satisfies all the conditions: (2) Forar (i) ¥, AR Foqes e # fewrrT B & g
(a) EXCEPT (i), but has done diploma in Computer Science and Is(uerT & 75% ﬁ?ﬂﬂ?eﬂ‘«rwﬁ‘ﬂﬁﬁﬂ“ﬁ2??ﬁ7
'scored more than 75% marks in graduation, then be considered for o B e s 8

ladmission in round 2. (b) Rramr (i) 7, =i gz frsme & Ry fom 2 4
‘(b) EXCEPT (ii), but has done diploma in Computer Science and HTHT=T T39T T84T F 60% F erfern s a2 A,
scored more than 60% in Common Entrance Test, then be ?‘I??'s” 3 % arfeer o e G s &

con5|deled for admission in round 3. ;
‘ -_:ﬁ%ﬁqwmqumﬁwﬁﬁn—éalé
In each of the questions below, information of a candidate is given. AT F9F@sr F7TE T8 ST 7 790 o1t AT T
‘You have to take one of the following four decisions based on the WWW&#WWW? ATTHRT TAT T 10-]
snformataon provided and the conditions given above. All the cases 06-2016 Fit aréta v faw T ¥ e oy 3 377 ST FTT |
are given to you as on 10-06-2016. You have to indicate your: TR AT At g Fw 2

(decision by marking answers to each questlon

19) Sanjay is a graduate with 89% marks. He has scored 90% in Common Entrance Testand 88% in the |nter\new His blrthday
is on 25th of June. He should

/

ST 89% ST WY U ISTE &1 IAT ATHT ST T F 90% W BT & Wi Taver 7 88% ST T 81 3AT Semfes o iy 25
T 2 T

A)  not be admitted / aTfErmT AT &7 =TT
B) be considered for admission in round 3 / 737 3 % aTfEreT ¥ foru Freme B st =R

C) be admitted / aTfT 3= =rfRT
D) The information is inadequate to take the decision / FererT & F form straseret ATIH &

20) Which term of the given series would be the first one to be negative: 4006, 3881, 3665, 3322,
& T T H TEAT FOTEEF U= T AT R 4006, 3881, 3665, 3322, .. ?

A) 11 (1=t
B) 9 /9
C) 10t /107t
D) 8th /8T
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21) In a caravan, in addition to 60 hens, there are 90 sheep and 18 camels with some men. If the total number of feet is 400

-

more than the number of heads, then find the number of men. '
/

T FAT # T et AT 60 qRTAT ¥ ererar 90 §E ¥ 18 T ) Afw 7 ¥ g s R it gor dea & 400 afgw gr, 9 g
=7 HeT ST el ; -
A) 30

B) 15

©) 20

D) 16

22) Find the next term in the sequence: 12, 15, 19, 24, oo

T SATeT HEET e e 12, 15, 19, 24,

A) 30

B) 29

C)az

D) 28

23) In a certain code, KGFT is written as 140, then how is MBFF written in the same code? /
o Frfir 30 & KGET 7 140 % = & Rrey sar 2, 4t 3401 52  MBFF 13 ferat s

A) 63

B) 28

C) 82

D) 12
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24) A figure is given on the left with a pattern. Observe and find which of the three images on thefight looks similar to the left
half of this pattern? /
AT A1 O et ¥ vy ws R v 21 v 2R S aars R ard d B A B E  aw o oA ad e awe

—
I\
LA

D) Both 1 and 2 / 1 7 2 F=t

25) Dolly is taller than Chandra and Farah. Anand is shorter than Farah, Chandra is taller than Anand. Dolly is shorter than

Bharat. Who among them is the shortest? /

VAT T FATE FRT &7 FIIG T FTTT G| AHE i AGTS TG T FH §, F&T A AATS AHE F AT G TAT AT AGTE AIG F FH g IAN A
A) Chandra / ==T
B) Farah / w118
C) Anand / &=

D) Bharat / w7

26) Among’the given terms, select the odd one out. /

o gu o=t & & fim ww 7 g7

A) London / #&T

B) Belgium / Ffesrre
C) Paris / aftw

-D) Lima / /=T
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27) Which of the given option will NOT share the same property as the elements of the given set: (625, 81, 256, 1296). /
Tew [T § § T a7 U 2w w Fe: (625, 81, 256, 1296) F AT SIHT W HT WTAT AT FAT? "

A) 4096

B) 16

C) 1156

D) 2401

28) Pointing to a boy, Piyush said to Arti , "His mother is the only d.aughter of your father." How is Arti related to the boy? /
e AT o AT TR e g (U  ameed T & gr, "Seeh Ay qrgr ot 7 swatd’ a7 £1" st 7 3% g 5 qvyy F=w ear g2
A) Grandmother / gTeT

B) Wife / Teft

C) Daughter / Y
D) Mother / 77

%A company decided to recruit Sales Executive trainees. Theﬁﬂ??ﬁ?ﬁﬁrﬁﬁﬁ ‘ ﬁqﬁﬁﬁqﬁmwﬁ@
et & wefiaaTet 3w ¥ R frer s Ratha Bod
iA.ﬁww%w?O%dﬁ%mww@ma@m
'B. TEfieaTE ¥ S AT # 65% 4 ST B 2
ic_m?ﬁﬁﬁmw-@mwf‘gm

'D. wefeme 7 forfe wher # &% & %9 75% s 9T B g

company laid down the following criteria for selecting the
fcandidates.

A should be a graduate securing atleast 70% marks.

=B. should have scored 65% marks in the selection interview.
;C. should know fluent English.

D should have scored atleast 75% in the written test.

ot et areif T QT A AT g ¥ A
() = ¥ & AT iz, snfteare ¥ MBA fa §, sas wrer |
zﬁﬁaﬁ%am(MD)ﬁﬁmmmél
(i) FoETe & ¥ B 1 Greene, IEEdT F O BT w@l h 0w F

In the case of a candidate who satisfies all the conditions :
?(i) Except A above but has completed MBA, his/her case
§may be referred to the Managing Director (MD).

(ii) Except B above but has a work experience of atleast 2 ; % n - "

B i b 5 TS FH T T 2 TG FT HH AT &, THF HTH T TP Al AT

years after graduation, his/her case may be referred fo the s .
ST AT gl

the President. : |
1 ; :
| : L T TR ST S i e ey R AEEt 3 e v,
\Based on the above information and criteria given in each of ,

the following questions, you have to take decision.
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29) These cases are given to you as on 21st October, 2016. Ayan Khanna, an Economics graduate secured 90% in the written
test. He graduated from Delhi University scoring 76% marks. He has a very fluent Hindi as well as English.He scored 64% in
the selection interview and is a fresher searching for a suitable job. He should be :

/

3 |THE AT 21 AT, 2016 it it 3 s fw o & sprer e TG ATAF T 7 i mheT # 90% 9 9T T 8)
T el Feafermers & 76% ot 3wy mmae 1 mars i 2 =g &t & #rar A St # off e A= 21 3 s e i
64% & YT 11 B 7 7% UF IUeH AT AT T ATAT T ) AT 3

A) rejected / FERa AT =R

B) referred to the President / TTgwfer 3 mmer st =3

C) selected / =i a7 =TT

D) referred to the Managing director / weers: fgere: & 7rer ST =i

30) Animage is given in the left and a set of three numbered images on the right. Observe and find which of these three images
can be formed using exactly the same number of straight lines as used to form the image on the left?

/

o For A€ A v & i ofi sreif R 7 o e v e R e &) e 3R e aare B e e R A R S
I BT HE B e Yl % s & s S w2, vt At & A7 Rt i1 7 # = £y s 22

]
1 2 3
A) 3
B) 2
C) 1

D) Both 1 and 2 / 1 % 2 3T

31) Select the option that is odd one out among the given four options. /
75 AT AT 1 R gu s Bt & fie an

A) Platelets / Srzsrzm

B) Lymphocytes / ferermameae

C) Hydrochloric acid / gregreamiis s
D) Red blood cells / #Te1 T=F Fifdram
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32) Which of the given option will NOT share the same property as the elements of the given set: (81, 729, 243, 2187, 3)7 /
e et § F Fi @ U Rw e 2 (81, 729, 243, 2187, 3) F aeat Srd T wHia F €A TG FO0?7 1

A) 9
B) 6561
C) 27

D) 15309

i

e s ¥ Fsfy st sfregstt i et et S e )
et & TwftEaTdt ¥ = & g e e Raffa B #
A, gefteaTe &7 & FH 70% ST % AT W gAT FRT

A. should be a graduate securing atleast 70% marks. | % il . )
; 9 f ! ~ |B.30EER 7 99 ATATERIT § 65% 3 UTH U g
: B should have scored 65% marks in the selection interview. |

C. STfieaTe SR # gTeraTe a5 BT ATrRul
D. seftear 7 e ofier & 7 & w7 75% o= w8 R g

EA company decided to recruit Sales Executive trainees. The
?company laid down the following criteria for selecting the

‘candidates.

'C. should know fluent English.

D. should have scored atleast 75% in the written test. | ;
. |

fl 1 : o o S o = AT Tl T YT FHIA AT IFHIGATE 1 HIAA §
iIn the case of a candidate who satisfies all the conaitions : | i o o o ol
‘ i(i)-—q'ﬁ?rweA?rW geftea 7 MBA & g, 39 J1eer

’&Tweﬁ%&w (MD) T ST ST et &1 |
(u)“ﬂm—rﬁtrﬂsﬁm It F U FTa T A IEE F
mwwwza&mmﬁmq,mmﬁmﬁrﬂm

iyears after graduation, his/her case may be referred tothe |
ST HERAT 2
the President. i

;;(i) Except A above but has completed MBA, his/her case
;may be referred to the Managing Director (MD).

(i) Except B above but has a work experience of atleast 2

|
i
i

'Wmm?r&aﬁTFﬁa’WWﬁ%qmmT?aﬂmqt
ﬂm'ﬂ’Tf?f'ﬂflTﬁ'ﬂT':"l

Based on the above information and criteria given in each of |

?the following questions, you have to take decision.

33) These cases are given to you as on 21st October, 2016, Mrunal Shetty secured 57% marks in graduation. He has fluency
in Kannada and Tamil only. He scored 62% in the written test and 61% marks in the interview. He should be:
/

T W ATTHT 21 A, 2016 i Rerfd % srqee fow wu €: qoner 9 7 \aw ® 57% eﬂ'crwﬁfqgw W?maf‘mﬁ&rmw
AT 8| 3 Forfera T § 62% v o ATeTeR § 61% @6 TH 5 g1 97 SHehn

A) referred to the Managing director / T AT & U ST =R
B) rejected / sr&efiga AT =1

C) selected / =ofAq FzaT = 1RT

D) referred to the President / Trgwfd & T ST =TT |
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AT T A AT o § o F = A Ry A ad

Following are the conditions for selection of a Clerk in various '3l

departments of the Government of India. I

‘The candidate must : (i) 9 7 F7 60% &1 & Ar Bt off Froer & wras ger
é(i) be a graduate in any discipline with atleast 60% marks. TR

é(ii} have the ability to read,write and speak Hindi and English. (i) & =fiv «fursft weer, frawr ve arer # werm g S
(iii) be less than 28 years of age. (iii) =T 28 T T gHAT ATRT

(iv) must have a bank account in any of the nationalised banks. (iv) Bwft st T8t &% & =mar 2@T =12 m)

In the case of a candidate who satisfies all the conditions : = A9 ot T T FA AT IFRATE T HATHA

(A) Except (i) above, but has post qualification work experience (A) TTT=F & 1 (i) T BrEHe, TFHEAT 7 1 & A1 72 wZAT
'of 1 years, hislher case may be referred to Senior Employment T S &, T5 HTH & FTLE TS ATERT T T A7

Officer. AT 2 _

(B) Except (iii) above, but has scored atleast 80% in graduation, (B) 97T & T (i) T @iga, IFfeaTe 7 #Tas § 7 T F7

his/her case may be referred to Junior Employement Officer.  :80% &= WTH T 3, 39 A0 Tl =8 TATT sTfEsT T T
?ﬁmmw%u

‘Based on the above criteria and the information given below,

%you have to take decision. SUTITE BTSS! iV A AT T ST 3 ST 9, AT :

34) These cases are given to you as on 18t September, 2016. Madhuri Pandey, who is 32 year old has secured 89% marks in
her graduation. She knows to read, write and speak English and Hindi. She has a savings account in a nationalised bank. She
must be.: '

/

g e 1 fieEe 2016 £ Pafy 3w aroar fw o 32 A At o F ae wes i 1w § 89% s wiw B ) A
SISt A7 fEeaT waA, foreeT i AT STl @1 TP 4% § JHET a9 AT 2| AT I

A) selected / FRT FTAT ATRT

B) rejected / AEETET FOAT ATRT

C) referred to the Senior Employment Officer / a8 TIsRITe A8 % wTe =T =T120
' D) referred to the Junior Employment Officer. / Ff¥g TsTe T8 & 719 @S=T ITRT

35) In a certain code, KSDEWA is written as 26, then how is EHJUI written in the same code? /
v (A2 = ¥ KSDEWA it 26 F =7 # ot mar 2, a1 39 F2 § EHJUI #3637 e Sroom?

A) 287

B) 434

C) 547

D) 500
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36) An image is given in the left and a set of three numbered images on the right. Observe and find out which among these
three images CANNOT be formed using exactly the same number of straight lines as used to forh the image on the left?
/ ;

o oy aTe e &Y € 2 i e denitae R o v g TrE A oy Ay €1 eamyE s 2 A aarey e dw e e A
Toft & der fF e Y % ceWe & A A W7 awar &, et ard dw £ B w1 e § e fr w2

A) Both 1 and 2/ 1 4 2 &=
B) 1
)3
D) 2

37) Among the given four options, three are related in a same way. Select the option that is odd one out. /

o rw =me et # i e e @ e & gE e 21 ag B T o aey teran

A) Tiger /a9
B) Lion / g
C) Elephant / grt

D) Parrot / FTaT

38) Find the total number of votes polled if the winner gets 80% of the votes and is elected by a majority of 600 votes, and if
there are only two candidates who contested the election. /

af% g 7 Feer &t sufiea @ g aft @S #r 80% a1z e € #fiT ¥ 600 a7 F agua § GAT TAT g a7 T FhaAT HaaTT g

A) 1000
B) 1500
C) 1200
D) 800
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39) Among the given group of 4 images, which set of images can be classified as a group?/  «

farm 4 Rt 3 wgg # By g Bt 7 0 TE w0 § g R s AT 87

-

A) (1,3, 4)
B) (1, 2, 4)
C) (2,3, 4)
D) (1,2, 3)

40) In what way can this set be classified into two different sets (considering prime and composite numbers): (103, 109, 111,
97, 93, 89)7/

B a5 & = g A 77 e e ® g B s o @ (srars s i semnedt ov fere e gm): (103, 109, 111,
97, 93, 89)?

A) (109, 111, 97, 89) and (103, 93) / (109, 111, 97, 89) &7 (103, 93)
B) (109, 103, 111, 89) and (97, 93) / (109, 103, 111, 89) % (97, 93)
C) (109, 103, 97, 89) and (111, 93) / (109, 103, 97, 89) == (111, 93)
D) (109, 103, 93, 89) and (111, 97) / (109, 103, 93, 89) 7 (111, 97)

41) In a certain code, XSJEN is coded as YQMAS. What will be the code of the word FGESN? /-
e FFSIT & XSJEN 7 YQMAS ¥ =7 # 5z 7 B ST &1 o1z FGESN 1 2 7 867

A) EHSOW

B) DREWS

CYEFTRE
| D) GEHOS
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42) Six friends were checking their heights. All of them have different heights. Jack is taller than Rose, who is taller than Sakshi
and Shashank. Only two persons are shorter than Ayan, but none of the two is Shashank. Shashank is 160 cm tall. Sakshi is
taller than only one person. Kaushal is the remaining friend. If all were standing in a line in descending order of their heights,
and then Jack and Rose, Shashank and Ayan, Sakshi and Kaushal interchanged their position, who is at the 31 position in the
new arrangement? :

/

@ e srrefy-sraeT FaTE st ) 37wl i TS S-S 21 S B oS AT & el &, ST et S orerte & star 1 e A
ST ST o WS §, Wi a1 F HTe 09 Aet g1 s £ F=Are 160 T g1 aveft ok v s=few & 7t €1 F= gor fo wier g1
afe & aft eraeft wredt sfers % o  wE g 8, i R St i T, arerieh s s, wreft e e srae-sraet Raf @ aroe § awer
AT E, TT TS G § FHIF AL TI79 T E?

A) Shashank / 1917

B) Ayan / =T

C) Rose / T

D) Kaushal / Fterer

43) A is 4 years younger to C and twice the age of B. B's twin Brother is 20 years old. How old is C? /
A, C = o a1 & 9w B &t 9y ¥ T €1 B 7 At #re 20 9 &7 &1 C i ang fraedt §2

A) 44 |

B) 40

C) 22

D) 24

44) Find the code similar to AN /
few T e AN % ST T @rier
A) HO
B) DE
C) Mz
D) BY
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45) In a market survey, 30% opted for X products whereas 50% opted for Y products. The differencg between those who opted
for X products and those who did not opt any of the products is 840. How many individuals were covered in the survey if each
of them can opt for only 1 product?

/

T AT AEETOT H, 30% ST A X IeATRT A qAT 8, FATH 50% AT T Y FEATET HT FAT &1 X TeqTET T AT A ATAL AT AT of
IS T AT T FF ATAT 5 A1 F7 5T 840 g1 A2 87 UF =7f7% Foaet 1 3o =7 FAHaT g, OV qoeqor § Freer At iy o G v

7

A) 7800
B) 9600
C) 8400
D) 7200

46) Looking at a portrait of a girl, Rani said, "Her father is the husband of my father's daughter. Brothers and sisters | have

none." At whose portrait was Rani looking? /
e T o e T L R T Rl e A A e T e R e e R e e e e e L T R L L R o B = A R e B e e R
g v oft?

A) Mother / |7
B) Sister / g
C) Niece / waTsit
D) Daughter / Fr&t

47) A set is given, (2, 4, 6, 8). The sets given in options are similar to it in a certain way EXCEPT one. Find the set that is
different. /
T A2 (2, 4, 6, 8) EaT wAT 21 Feew ¥ Rw aw few § ¥ s o gizwe g g9t s A ahF 5w 1 e g s w2

A) (3,7,6,2)
B) (1,2, 3, 4)
C) (4, 8, 12, 16)
D) (6, 12, 18, 24)
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48) A square is broken into exactly two triangles. Which of the following must be true? /

s et £ &1 Bt & dver war &1 Frer i & Fi a7 e @A sfe? | %

A)  Both triangles are congruent and equilateral / E=T =0T HHTET 2T WG &

B) Both triangles are isosceles and acute angled / &T=T BTor aRfzaTg T =7 T 8

C) Both triangles are right angled and scalene / &t Braor g @< Bowqs &

D) Both triangles are isosceles, congruent and right angled / ST BT awfgaTg, FaqeT ¢ awsfiy §

49) Pointing to a lady in the photograph, Seema said, "Her daughter's son's grandmother is my mother." How may Seema be
related to the lady's grandson? /

TFIERITE H U TEHAT 1 AT ST FTAT g8 0T 5 Tl mﬁaﬁ#%ﬁaﬁﬁﬁm%“ﬁwm#ﬁww%ﬂmﬁg?

A) Daughter / 51

B) Niece / e

C) Grandmother / aTET
D) Aunt / "t

50) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Paralysis : Movement :: Blindness : ?

mﬁﬁ?QW%qwélmﬁQWQ?ﬁﬁﬂﬁ?ﬁﬁm@H%l%qwmﬁﬁ—tﬁwﬁ—aa'ﬁrmq‘rﬂ-«rﬂ ST e grew |
FET BT Heer TEAT BN, STAT F Tger ¢ gy orew wee TEd gl

STRET ¢ T Ter o2 STermoe ;2

A) Pupil / gerft

B) Touch / et

C) Vision / gt
D) Retina / ¥feAT
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51) What should come in the blank space so that the series formed is meaningful: 17, 26, 35, , 53,62,717/

70 w1 F T A SR Al e s w4 17, 26, 35,

53,62, 717
A) 44
B) 43
C) 46
D) 45

52) Find the code similar to BFLD /

f2w 77 iz BFLD S #ire gifem|
A) ZXBD

B) YZAB

C) VWER

D) NOIJ

A
*
.
-
g
.
A) 6
B) 4
C)5
D) 3

54) The area of the greatest circle to be inscribed in a square whose perimeter is 400 cm, is /
400 Tt AT TR A T TS # SRt B ST ATer W a2 4 A S T g

A) 6779 sq cm / 6779 =t #efY
B) 7857 sq cm / 7857 =t &eft
C) 4895 sq cm / 4895 =t 7Hfy
D) 8799 sq cm / 8799 =7 #ft
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55) Below are given some different views of a dice.

Based on this information, answer the questions that follow.

Which of these symbols is NOT adjacent to X7
/

= we T % g STeT e g9 TR g g

TH SR 3 e O, i o et ¥ e

T TR | & Sl A7 X F aieee T8 g7
+
) X
A) +
B) Triangle / B=ror
)Y
D) O
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56) Below is given the expanded view of a dice. Which of these pairs of colours would be oppdsite to each other? /
1= e e A e ger A wr §1 9 o ST & 7w A v g RBrofi @ w39

A) White and Brown / @t =7 437
B) Blue and Brown / #i=T & ot
C) Blue and Red / =T 3T &11er

D) Black and Blue / #TeT 3 #ter

57) Among the given group of 4 images, which set of images can be classified as a group?/

fomr Ty 4 51 3 wrage # & R e Rt o we mg o i afig R o oy 22

A) (1,2, 4)

B) (1, 3, 4)
)y (1, 2, 3)
D) (2, 3, 4)
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58) Find the string of alphabets similar to PSVY. /

FURTET 3 3 FRT A7 @it o w R a6 F PSVY ¥ a2 a
A) ABEH
B) JMPS
C) MORU
D) XZBD

gFor admission in ABC College for Post graduation, the following gABC FerST H Ulee AU & arfae & fore, e ad @

%Zconditions apply. . @’Eﬁ' =

(i) Be a graduate with 80% marks. E(i) 80% M%WIW@HTW%FI

(i) Should score more than 85% marks in the Common Entrance %(ii) TTHTT 8T TLeAT § 85% & s7ferer sien WTe &eAr
Test. . ; !?T%QI

;(iii) Should be less than 28 years of age at the time of Common i(iii) HTHT o9 TLET & T0F o1 28 o9 8§ 57 gt
?Entrance Test. :BT‘I%:Ql

5(iv) Should have scored 80% in the interview. A f(iv) Zzesy W 80% 9TH AT ST 1R

‘gln the case of a candidate who satisfies all the conditions: “W U IFHTEETT g ot &0 QT Fa &

( ) EXCEPT (i), but has done diploma in Computer Science .and | (a)‘l%’clTeI(L)%}r At degex s # R frar § e
scored more than 75% marks in graduation, then be considered for W&l’rr T 75% ¥ Tfer ok iy e g Ar, e 2 W
ladmission in round 2. : TTfEe & fore e G s 2

(b) EXCEPT (ii), but has done diploma in Computer Science and-(b) fﬁimr (ii) %, s Fegex Bam Fm?rm o & m
gscored more than 60% in Common Entrance Test, then be Wﬁ??qﬁmfr 60% & stfer @i yTe e g, ?T—a’
c:on5|dered for admission in round 3. :3 7 arfee % forg = R s 8

In each of the questions below, information of a candidate is given. Fﬁ—%’ R Ty Wy § U Iefiea i s &

You have to take one of the following four decisions based on the ST ITETe FiTTE TE SITAFIT T YL ST AT T

|nformat10n provided and the conditions given above. All the cases ﬁmﬁﬂmwlﬁ”ﬁﬁﬁﬂ@ﬂm AT wft AT 10+
xare given to you as on 10-06-2016. You have to indicate your 06-2016 T aTE w1 X0 T §) T v I WE‘ITF
demsnon by marklng answers to each question. TRt ST ot giee wET g
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59) Shruti is a graduate with 86% marks and scored 70% in diploma in Computer Science. She4yas born on 14-6-1993 and
has scored 78% in Common Entrance Test. She has scored 83% in the interview. She should

/

A 86% i F HTX U UUe § AT Fegey B # T # 70% wra B §1 9w 14-6-1993 Fi f=r g ot s 3w /e v e
THAT # 78% e R 21 35 Tevey # 83% WA Feam @ 3

A) be considered for admission in round 2 / TT37= 2 % &1 F for fa=me fear ST =nign
B) not be admitted / FTRE=T T AT ATRT

C) be admitted / ETEAT ZAT ATRT

D) be considered for admission in round 3 / 7137 3 ¥ =R % form fA=me By s =nfew

60) Eight identical cubes are taken. Each of them is coloured with Red colour on a pair of opposite faces, Green colour on a
pair of opposite faces and Blue colour on remaining two faces. The eight cubes are joined together to form a larger cube.
Based on this information, answer the questions that follow. What would be the side length of the larger cube formed?
/

Mmﬂ?%wél D L I T 78 ke s e 7 e P T P e B B o P e e 7 e T AL e - et e et
e AR T 6 T AT 81 U a2 A9 A A 39 % U o9 Ars am=1 A U 50 SUET T Q159 ST A 0 A= gt
T ITT ZNAE A T A H AT AGTE PRl gri?

A) Thrice of the side length of small cube / &Te a7 FiT AT FATE FT AT AT
B) Quarter of the side length of small cube / @& == it T AT F7 AT
C) Half of the side length of small cube / =T a7 £ =T AATE T ATET

D) Double of the side length of small cube / BT =7 FT =TT #ATE FT FAAT
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Section 2 - PART B

No. of Questions: 60

61) In which of the following states in India is National Dairy Research Institute (NDRI) located? /

a1 ¥ i o 7 e 2d fu (Rewge (TAderes) ffaw 22

A) Gujrat / 5o
B) Maharashtra / 9gr<mg

C) Andra Pradesh / =g srargr

D) Haryana / gRamm

62) "The State shall NOT deny to any person equality before law or the equal protection of laws within the territory of India".
This is a part of / ‘

"TTg T & e et oft srfen o aerrer & A TR S0 A7 G T § S & a0 ®AA F SE G § T4 T8l 0’| g

AN | FEET uF g

A) Union Judiciary / & =amrmfersT
B) Fundamental Duties / e s=r
C) Directive Principles of State Policy / T1g @ #if e Frama
D) Fundamental Rights / #ifere sriersre
63) Who became the first Indian to win a gold medal in the T42 high jump event at Rio 2016 Paralympic Games? /
e T 2016 STt G # T42 S0 e TR & ot qaww sfras aTeT e AT 7 '
A) Rampal Chahar [ TTHOTH HTEL
B) Varun Singh Bhati / & &g 9Tt

C) Sharad Kumar / T3 FHTT :
D) Mariyappan Thangavelu / TR=reTe qarae |
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64) When is World Food Day celebrated? /
e wer femer e wemT Sar g7

A) 16 October / 16 &TFZa<

B) 10" December / 10 f&@a<
C) 5 June / 55

D) 14t September / 14 fam<

65) Village panchayats should be organized to enable them to function as units of /
TN B = & wa & e s 3 o e demaet i e fr st = e

A) material abandonment / #rfei= sre=rg
B) State /7157

C) self-government / =r-9118+

D) corporate / HTHEE

66) The Tungabhadra dam is located in which state of India? /
TTART Y AT & B e 1 P 82

A) Assam / @THH
B) Karnataka / F===
C) Meghalaya / TaT=7
D) Kerala / 377

67) From which of the following plants is lecithin extracted? /
Frerferfie ey & Bt 7 st e e 22

A) Soyabean / AT
B) Garlic / =gq
C) Tomato / 12T

)
D) Ginger / 327

Page 26 of 55




Set Id : 31486_3 6-12-2016 - Batch2 - Group3

For: Rajya Sabha Secretariat, Parliament of India

68) How many schemes were introduced in Foreign Trade Policy of India 2015-20, as a part of Exports from India Scheme? /
e i SR whtw ¥ us ey ¥ ww ¥ area A frewr s Aifa 2015-20 # et ais £ s £ T

A) Two /a1
B) One /U®
C) Three /7
D) Four /=TT
69) Which dynasty was the next to rule Magadha Kingdom? /
I YTSTESr 7 HTE GTATST 3 ST ITTET (52T 41?
A) Sunga dynasty / 47T TrsTeer
B) Shishunaga dynasty / farg[=miT Trsrerer

C) Nanda dynasty / 5& ZTsTasr

D) Maurya dynasty / % Trereer

70) Which part of the potato plant'is most often used as the edible part? /
AT 3 TITEN 6T I W1 AT ST @R o &7 H TA6T T STam 22

A) Flower / 51

B) Seed / #iwr

)
C) Root / 5T
D) Stem / T&W

71) When a ray of light is incident normally on a plane mirror, the angle of incidence is /

s warTer it v e we waaer giw a7 sfsea 5 8 wrafad gt g, a9 ArTad e 6 g g ?

A) 30 degree / 30 f23fY
B) 0 degree / 0 =3t

C) 90 degree / 90 f23ft
D) 60 degree / 60 f=4ft
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72) What will happen if the Rajya Sabha holds the money bill even after a period of 14 days? /

‘e

FIT ETeT & AT 7157 AT A I e e w14 B @ it am i o T #w vmar 82

A)
B)
C)
D)

The Lok Sabha has to pass again / /=T &1 39 {57 7 q1f¥a #7747 ZR1T
It will be again sent to the Rajya Sabha for reconsideration / =5 ZaTvT TATA =917 & o0 TTo7 TaT & F=77 STOTT
It will be considered as rejected by both the Houses / S &1 &A1 17T ¥ e THEAT FTOMT

It will be considered as passed by both the Houses / =3 ZFT F&AT 1T ITHT THAT AU

73) The first musician to be awarded The Nobel Prize in Literature 2016 is /
qTfEer ® AT TR 2016 & TETHT Tger ST

A) Neil Young / == 7
B) Jakob Dylan / &=Ta ==

C) Bob Dylan / @t =T@+

D) Stephen Stills / = fFem

74) Under which of the following conditions is Indian citizenship lost? /

freferfea fm o Rafy & st avrfiwar w1 = grar 22

A)
B)
c)
D)

If a person settles in other state / 7% T =ri~F Fft ster Zor # 97 700

If a person is imprisoned for lifetime / =rf& T =7=F T AT=i=T F7ATE 27 7T

If a person is without a property / 7% 7= =xfx% =T @vfy T g1

If a person acquires a foreign citizenship / 7% 7= =t fAgeft AmTi=ar =iww 77

75) Pashmina shawls are famous the world over. The hair of which animal is used to make these shawls? /

werfiaT orfer g we o gfig B1 w0 & SEET A AT T AT R A & e e e smar g7

A) Goat / FoHT
B) Sheep / wg

C) Yak / 7T
D) Rabbit / =7 Trer
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76) Who won the 2016 ltalian Grand Prix F1in September 20167 /
et 2016 ® 2016 Tameret wie e F1 e star?

A) Sebastian Vettel / Ffeemm Jgar

B) Lewis Hamilton / f£w gffree

C) Daniel Ricciardo / A=t ferret

D) Nico Rosberg / fA=T Traast

77) Who was awarded the 'Champion of Championé‘ title for pistol shooting in 2016 by the International Shooting Sport
Federation? / '

AT RereTSty @e wErEE g w2016 # fieeer Fermaamstt & o <Sftaw dfw St fwme & senfa f=r mar 9

A) Jitu Rai / sfrig 7/

B) Pablo Carrera / 97T 94T
C) Abhinav Bindra / srfé=e faat
D) Damir Mikec / =T foes

78) Which Indian state ranks last in the literacy rate as per the census of 20117 /
2011 ¥ ST F ST B A TS i arewar @ # diow v a2

A) Meghalaya / Fremerr
B) Goa / &T

C) Assam / zT@H
D) Bihar / fege

79) What is the latitudinal and longitudinal extension of India? /

WA 7 Aol iR sraer e =T 82

A) 8°4'Nto37°6' N and 65° 7' E to 95° 25' W / 8° 4' N ¥ 37° &' N & ¥ 65° 7' E & 95° 25' W &%
B) 8°4'Nto37°6'Sand68° 7' Wto97°25'W/8°4' N&37°6' S a «lx 68° 7' W & 97° 25' W a%
C) 8°4'Nto37°6'Nand68° 7'Eto97°25'E/8°4' N¥ 37°6' Na% siT68° 7' E & 97° 25' E a%
D)

10° 4' N to 35° 6' N and 68° 7' E to 97° 25' E/ 10° 4' N & 35° 6'NW@T68“T'E@|‘97“25'E?I?F
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80) Who among the following is the first recipient of the International Prize in Statistics in 20167 / -,

T & 7 i 2016 & gu wfeffes & smeigy e F fasar w272

A) Ernest Kurnow / &= FaTa

B) David Cox / =@ &iF

C) Steve Kuzmicich / = Teeif=®
D) Gunnar Kulldorff / 79X Feeih

81) Name the defect of vision in a person whose far point is less than infinity. /
IH =6 T gfeary 7 W aarey S g7 1 &g AT 7 59 2)

A) Myopia / AT

B) Cataract / wifFafEs

C) Hypermetropia / greaaazroaT
D) Presbyopia / THaTTa=T

82) Which of the following countries is the world's largest remittance recipient in 2015 as per the World Bank annual report

"Migration and Development Brief"? /
fersr & T AT ROTE "HTEiaT U deTHE AT F ST HEiha ® H AT AT 297 2015 1 Faw AT TR T AT 297 87

A) USA / Zmra
B) Germany / STHAT
C) China / =i

D) India / #T%a

83) What is Article 27 of the Indian Constitution? /
AT AT AT AT 27 T 7

A) Freedom as to attendance at religious instruction or religious worship in educational institutions / &rTfi= forerr = faregor
TEATT | avfies o= § 3uteafy F =7 § rag=ar
B)  Freedom as to payment of taxes for promotion of any particular religion / Bt ef frsre £ arar 27 & e 771 &
AT F =T H wEeAar
C) Protection of interests of minorities / ===l & fgai F1 Fvamr
‘D) Rights of minorities to establish and administer educational institutions / 912 =Tt T TATAT 27 worme ¥ 7o
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84) An inscription is any writing that is engraved on something like stone, wood, metal, etc.The study of this inscriptions is
known as: /

o)

*

Fré erferarm T A graT & o g SIS T IEhior T STTAT & S T, A, AT, Tete) eF Al i deaae e FEar 82

A) Epigraphy / e &=
B) Numismatics / HaTermar

C) Photography / ®reramdr
D) Philately / =7 fee wug

85) Who has won the prestigious 2016 Caine Prize for the short story, "Memories We Lost"? /
e e e Y wtee & o afafdw 2016 ¥ R Star?

A) Tope Folarin / 21T ®ETRT

B) Lidudumalingani / ferggmfemt
“ ) pkwifi Oduor / Arwfaft sirgere

D) Namwali Serpell / Ta=Tet @i

86) Hindu women keep fast on mondays with the prospect of getting /

g wiReTd aRa fer 6t e % /T HHaT A I e 57

A\) an ideal husband / = sraef afd

B) moksha / wTer

C) a lot of money / aga &T FT

D) long life for children / argT & forT == sfta=

-87) Which line of latitude passes through India? /
I #T STET9T T TTCT & BT [ered’ 62

A) Avrctic Circle / 39T gagw

B) Tropic of Capricorn / 7= Y@
C) Equator / s7aeT T@T

D) Tropic of Cancer / & ¥@T
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88) Birth of which language was one of the most significant developments during the medieval period? /
HETHTAT I % 21074 e ATa7 i Ieafey aeiies weeaqol Fam § i v o2

A) Urdu / 3%

B) Awadhi / st

C) Hindwi / fEat

D) Braj Bhasha / &t #rraT

89) Who can certify under article 134A that the case involves a substantial quéstion of law as to interpretation of Indian
Constitution? /

AT50IR 134T F AqT T A THTO F7 TFav g & qreehvar sf¥er £ 2w #5727 % a1 § S w7 0w a2 7 T o 22

A) President / Trgufea
B) Supreme Court / IgaW =TaTerT
C) High Court / 39 =3

D) Parliament / 5#=

90) Which state of India has the highest population according to the 2011 census? /
2011 ¥ STV ¥ AT WO & o e o ey e sfee 22

A) Madhya Pradesh / &g waur
B) Maharashtra / 7gmTg

C) Uttar Pradesh / 397 7297

D) Bihar / g™

“91) Where is the church named "Basilica of Bom Jesus” located? /

A) Daman / 87
B) New Delhi / 7% faeeft

C) Puducherry / 73=ft
D) Goa / &1
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92) Which of the following is NOT a Himalayan state of India? /
Frer T & 1 |7 0 Wi w6 fgHTeef O Agt 82 "

A) Uttarakhand / 3wicr@s
B) Sikkim / farfgm
C) Jharkhand / &TeEe

D) Arunachal Pradesh / sr&o=e T597

93) In terms of Article 371-l, the Goa State legislative assembly shall consist of NOT less than /
A= 371-91E F SATAT, Tar g Y e # =78 & g & w7 aeq 781 an?

A) Twenty members / & #&eT

B) Thirty members / i g=er

- C) Fifty members / 9= Wgeg

D) Forty members / =Teire wee

94) In which year the Constitution ninety-ninth amendment took place? /
Afaem & Feree at deveae frg o § Gt T

A) 1963
B) 2014
C) 1976
D) 1986

95) Name the authority who have special responsibility with respect to law and order in the State of Arunachal Pradesh. /
3 TTErRT/sTiRreRTor 7 AT aare e srevTEe TS U § A UF Sew F w9y § Faw @l g)

A) Governor of Arunachal Pradesh / %= 9T 3 T=a0Te
B) Central Governmelntlﬁﬁ'mr{

C) Supreme Court / Sga® =1a7eg

D) President of India / wTa & T899
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96) Which is considered as the largest mosque in India? / Yo
B g B Taw adft wftee F =0 § g7 AM@r 2?

A) Atala Masjid / s@T=T 7iEsT=
B) Jama Masjid / STHT Tfesta
C) Moti Masjid / 7Tt wies=
D) Babri Masjid | T W

97) Which among the following instruments needs flow of wind? /
RerferfEe arerat & & 5 gar F warg $7 o 87

A) Flute / aedt
B) Sitar / T
C) Mridangam / §&re

D) Tabla / @a=T

98) Nicolo Conti, who visited Vijayanagar during the reign of Deva Raya |, was an /
(T whteay, gt 27 v | % vrer & Rrsaere 1 27 Bt o, 78 w9 472

A) Persian traveller / ®T#T Tt
B) African traveller / st ==t
C) Arab traveller / 5=t 7=t

D) ltalian traveller / zaTfas 7=t

99) Who amomg the following is the winner of Sultan Azlan Shah Cup Hockey Championship 20167 /
FArr 3 37 I Ao AT o F 2rE AT 2016 T frsmT 22

A) Netherland / fiavds
B) Australia / #tezferar
C) India / EE=T

D) Malayasia / w=rforar
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100) Vikas Krishan represents India in which of the following sports? /

o o fve &= § s & wieA i #war 82

A) Boxing / aaTSIT
B) Football / geaiter
C) Archery / SigTsir

D) Shooting / gfé

101) At the time of rainbow, the raindrops in atmosphere acts like /

TREAY & THT, Fraraver ¥ g6l 6 58 P avg w1 wedr g?

A) small droplets / STeT 52

B) small prisms / grer fiww

C) small glass pieces / &i« Fi= & ZFhe
D) reflecting mirrors / TeTal g7

102) Which of the following is the full form of TRAI? /
Frerifera o & & Sremeeare (TRAI) 7 07 9 872

A) Telecom Regulatory Authority of India / E=fisia GeedT staiiT si® =ar

B) Tata Regular Aviation in India / 2TeT WA TETAR & Ei6AT

C) Technological Railway Authority of India / THTa T STee Toa AT &% f=ar
D) Transport Regulatory Authority Of India / ZiETiE Weredy sitarfid «ifw R

103) Electric current is flowing through a wire from west to east direction. What is the direction of maotion of the conductor

electrons in the wire? /

forerer e v AT 3 e F o 3 v e w4 Tw §1 9 # gerern s A iy e wr e

A) East to west / T8 & Tfarg

B) North to south / 3=7% 7 =&
C) South to north / gf&rr & 397
D) West to east / aféw & 7
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104) The Fundamental Duties were added to the Constitution of India by which one of the fgllowing amendment acts? /

Frerferfaa B s sfarfam grr sva F #fems 7 wifes wdsy 9 e

A) 45 Amendment / 453 FeTTE
B) 40t Amendment / 4037 HTTe=
C) 42rd Amendment / 4277 HoTTER

D) 44'h Amendment / 4437 SorraT

105) Amir Khusrau was the disciple of which sufi saint? /

arefiz T fer bt v 3 fore 42

A) Qutbuddin Bakhtiar Kaki / Fagz afeaare Tl
B) Syed Naushah Ganj Bakhsh / &z 7terTg ie7 awer
C) Shaikh Nizamuddin Auliya / 9rg R sferr
D) Salim Chisti / 7= et

106) Who is the Supreme commander of the defence forces in India? /

AT T AT T7 5 HATg FHISL T 57

A) The President / Trgmia

B) The Prime Minister / Sem==t

C) The Chief Justice of India / W‘}TE@T rTETeT
D) The Vice-President / Fo-rTgafa

107) Kandali festival of Uttarakhand is celebrated in between the months of /

AT T AT T G WA 3 A e A 82

A) September and October / =T ¥ srFzaT
B) August and October / 3T 37 sTFFza™
C) January and March / St &iw o=

D) October and November / si#zav #i¥ 7aav
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108) Which of thé following research is conducted in new areas of interest or inquiry? / _
frer % & Frer e 7 smSt fRa ar Stis % AU Sy 7 o T g7 -

A) Descriptive Research / auiaTea sTa e
B) Explanatory Research / saTEaTcH STHEETT
C) Deductive Research / fRiraaTeR= sTeem
D) Exploratory Research / Ererumea= siqeem

109) As per the eighth schedule of Indian Constitution, the number of scheduled languages are /
AT T e ¥ et e o AHTT AT FATAT BT FEAT

A) 23

B) 21

C) 24

D) 22

110) Who was crowned with the 2015-16 UEFA Best Player in Europe? /

foFr 2015-16 UEFA e aavdfier fererrst & qrer & wramsim T £7

A) Antoine Griezmann / T T8+

B) Cristiano Ronaldo / Rt THT=eT

C) David Beckham / 2= e
D) Gareth Bale / frter 3

111) Which of the following organisations has the given lego? /

fear i Rt § & B see w1

]
g
A) TRAI
B) FICCI

C) SEBI
D) DOTC
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112) Which of the following country developed world's first graphene electronic paper? /

e & i gor 7 g 7 wear b e iR T dar fear 22

A) India / =T
B) China /==
C) USA / st

D) France / w18

113) Which of the following is expanded form of GAGAN system developed by India? /
7 o 3 e g dAw B mar GAGAN st vt B =g = 22

A) GPS Aided Geo Augmented Navigation / S vz frrr sairies I

B) Geographical Authorized Global Augmented Node / BERITTF= AT TEsE Wiae AHET 772
C) Globally Authenticate Geo Augmented Navigation / Terrarelt ST R wtree AT

D) GPS Assisted Geomapping Augmented Node / st sffees e aimdes 9

114) Who is the founder of Turkish rule in northern India? /
FAL AT H G 9TET Y FATIAT S A i

A) Balban / a=a1T

B) Muhammad-bin-Tughlaq / 7gw= &= g

C) Sher Shah Suri / 9% g T |
)

D) Muhammad Ghori / gFa& =14t

115) Who among the following Indian shutilers has been appointed as a member of the International Olympic Committee (10C)
Athletes’ Commission? /

e & & f Aty sre faATEt i SevAeme At FEE (10C) F vadtz ArinT F "oy F =9 F Few G

A) P.V. Sindhu / ft.4dT, g
B) Saina Nehwal / #TEHT gaT
C) Ashwini Ponnappa / #rfsa=ft wiereaT

D) Jwala Gutta / S3T4T 15T
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116) Dutee Chand represented India at Rio Olympics for which of the following evenis? /

T = 7 frw = & o fra afos o s = wiof e e ar? g

A) 10000 M steeplechase / 10000T =T amem Ste
B) Boxing / TzaTSir

C) Women’s 100m event / 7=t 100+ gd

D) Wrestling / odt

117) Who among the following cricketers was bestowed with Arjuna Awafd for the year 20167 /

7 & & o e &1 9 2016 § aro(a qresre § gwttae B w972

A) Rohit Sharma / Trfge ¢t

B) Yuvraj Singh / FaTsT &g
C) Virat Kohli / fatre #rgeft

D) Ajinkya Rahane / sfsia wgmor

118) In India under which of the following conditions, a President can be impeached? /

Feferfea fFm oRafeat & ara § wgafs v gere G s awar g2

A) For disregarding the Parliament / 58 #f AT 7%
B) For financial instability in the country / g1 ¥ fa<fr stfeurar o=
~ C) For violation of the Constitution / STerer & Swets 7€

D) For not taking Prime Minister's advice / Tem===t T #eTg T A 9T

119) Mawsmai caves are formed by which among the following? /

HTEHTE 1A A7 AT frerer e war 27

A) Granite / I9T=<
B) Limestone / FAT qea¥
C) Laterite / 7rexT=e

D) Sandstone / =T Ted<
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120) Anthony Joshua who defended his IBF heavyweight title 2016 in Manchester belongs to whijch sports? /
F=var § o IBF &1 Zree 2016 1 TH: ITH e a7 WA SIS 3 &= & 27 g2 87

A) Chess / ¢1a7sT
B) Snooker / FHT
C) Boxing / T3

D) Badminton / &=z
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Section 3-PARTC

No. of Questions: 60

121) "5 %1 A ae8 27

122) AS[E 5T HT AT s ?
A) T'ﬂTI'I?ITYﬁ

B) fa<mr

C) wdierT

D) srehiert

123) ‘@qwﬁﬁ?qﬁwﬁraﬁwﬁ%mﬁﬁ—ﬁﬁ?é?
A) HIT
B) ®THT=T

C) qa=ier
D) I

124) [T TET F ST o & -
A) T '

B) e

C) AT =

D) agd =TeT Afh
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125) =TT & 97 =T FHAT?

A) T

B) &er

C) arar

D) T

126) "Tereams w1 1 & =iEET )’
A) ST THTE

B) wrwia Bt R

C) = reATg IoTeT By

D) #far=froreor

127) wrEET-ersT FT wATAATHT vrew o
A) Tt
B) #wT™

C) zam
D) af

128) ‘ST A7 T AT 74 oy g 7 2 -

A) TS = TEAT
B) T ¥ e q1e
C) 31 iz AT

D) 1T "eaT

129) ‘s SOt AT T T A v ) AT § w6fE 37 A U9 g9 AT g -

A) @rse T T e ez v )
B) Ysfrf At =7 e e v 2

) iR et o e =i &4

D) srstahet S 4T Fred &l

Page 42 of 55




Set Id : 31486_3 6-12-2016 - Batch2 - Group3

For: Rajya Sabha Secretariat, Parliament of India

130) 'F7H TIEAT ETE< og Hel Y 71 947 Ft —
A) FRT SETE AT

B) ST <ft £ 7 AT

C) aga sr=a ferae

D) =T %= fora=T

131) Tﬁﬁﬁmﬁﬁuﬁﬁﬁﬂm

1 ﬁﬁwm ia ?FTTQ’W
3 WHT&W o G @ﬁq it

4 Y N d %wm%
A) 1-a, 2-b, 3-c, 4-d

B) 1-b, 2-a, 3-c, 4-d

C) 1-c, 2-b, 3-a, 4-d
)

D) 1-d, 2-c, 3-b, 4-a

132) T F T AT T FIET AIE AT LG AGAT ATAT 9758 22
A) T
B) qgTRid-aarid

C) A F-HeATTTh
D) ==

133) fordi sareer ¥ et s et 27
Ay
B) =t
C) =

D) z&
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134) FTFAT IT FgAT g FF TAH I FI AT FAT ATAT 9757 =qT 37
A) war
B) =t
C) 7w

D) 7

135) TZt-ors3 F1 watFaAT omw ot

136) T Favam 1 o FareaT & -

A) TFOTTETE BT 2 |

B) =1 a7 & 3 =fer & Y werrerar gt 8 |

C) Fa 1 B gt 2 |

D) & ar &1 7 srfern it faerwe gof B a9t 2 |

137) "SITaT W A" TH AT ST 9758 6 aTE TAH F A1 AT A audr g2

c)#r

D) =T

138) 3 B 1 = & fry warer A qfF R0 - e 3 21 o E -
A) FTITH T THH

B) sreaTd®IT 7 #7T

C) THA T HT TeaTAHT T HT

D) YTeaTe 1T F A THHT
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139) e[ =TH =T 2l - R=r v

A) fag
B) =+
C) %

D) &T

st e

A) T S2T

B) & &7 g ame e
C) T T &7 F

D) g& T g8 I & THT

141) =T 9167 T TATIATHT oTeg ferfeT

A) =TT
B) =T
C) =rar

D) grex

142) rerifire ooz 3 T 07 T ofew AT AT R 45 FH -
T T T FAT '

A) fre
B) T
c) fr=

D) @raE=fr

143) TETATL-9T58 &7 TA{@FT= T 418 o

A) sTETETE

B) @raT =
C) =T A=
D) W&

140) W& TEraeT e o T ﬁ{ﬁﬁﬁﬁ—ﬁmﬁmﬁﬂﬁm & fEar |
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144) ‘FAT T4 T SFHT BT AT gf T0N' FTHT AT 05 =T gRIT
A) ZHTE FEAT H S BT A &1 70

B) AT 3 Th B A0 g

C) =1=ahl =T ST==hior 21 T

D) FeT | @TAT 0 ST e

145) "3 T TG AT FFIA AT FF 22
A) wrferor -
B) #af

C) ¥ITaT

D) FH

146) Fratert o=t & u=r £ wary 7 gy Yo =4 F o fF oss #1 @ w8 2
© A) TR AT

B) o=t STt forew

C) AT T

D) saeiT

147) 3fra B #1 w3 @ Few o £ gfF B -arm AT R HATT F4AT 2

148) I FrwrferfEe arar ot 3 Rt % geanas &1 are & By v £ aefa & 2
INEREEEE

B) Frv 1 fararfen waeft

C) Ty

D) FErrT ==t & v £t
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149) "HrE" FT q5T GHT TAH T DT AT 7

A) @i

)

B) st
C) sm&

o

D) &t

KRS A R o

150) ‘gherer ag & T=AT Tegererr =7 gaTe wiEr gt 81’ 3R e #1 9 w2 R v afi

151) et =67 50 "I ST & T " o6 and T g
A) \ofer

B) wehat

C) e

D) FuTeT

152)ﬁﬁﬁﬁwﬁﬁﬁﬁﬁwﬁqﬁﬁﬁm-wsﬁwmw%wu_@

A) g

B) #THTY. ¥

C) faar

D) S

153) Tt ez o= T AT 22

A

) T
) ST

O W

MELIES
D) 7o
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154) 1907 9rs= 7T HfenT 2

A) qeHAT
B) ordf
C) =reAmr

D) quHT

155) T8 # #9E & T q97 57
A) sTaETt
B) srhrem
C) s

D) sreas

156) “THEH FAT qr TERTT (AT & 2° a9 7T 905 =7 g0 —
A) FT TR e AT a7 ?

B) =T TFe [T AT E ?

C) T 799= T [T THeT)

D) T TAWH o RO (AT g ?

157) st o= G fore s 8 2
A) srfererfiat

B) fir=i

C) \rar-fiar

D) fredamt

158) ‘zw Frafrfa w=t Remers F @ gram & aqfs g2 07 79T 3 g -
A) 2 Fre B F e 8

B) gATT A= #ateT g

C) gw Fat= o 7 8

D) 29 #ataT Fzmer & = 2
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159) "=rrere” T e ETT oreg ®rT AT §7
A) T

B) I

C) gt

D) =raear

160) T & i & R £ St e B
A) gferor-are

B) eaw-fAwim

C) HaTer-g T

D) ¢fiv-arefiT

161) AT~ ¢Ts% T TATaETHT 95w o

A) 7

B) wi=
C)ara

D) 71

162) T w1 3t &
A) it

B) a1

C) f=

D) =<

163) STeT ~9Te% =T TaTTaTHY oreg ferfery

A) B

B) ST

C) STHTAT

D) 9=
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164) "= AUE AAAT T A FT A F F T ATE?
A) =F=aT

B) v=far

C) T

D) ¥=rTTe

165) ‘=7 TA1 WAL H I IFAT g1’ AT T GLE FT AT

A) =7 ST wE H AAT A R 2

B) =M1 9= gAY &
C) EMAT qaHT § FF-F17 IFAH 8
D) FH-5T Fa= 3gaT & 7

166) TG AuAT =AH T AT A 2
A) TH=T

B) Ryt

C) arse

D) arre

167) =T o=t # S w7 AT #fr AT it frar s 2 2
A) e T

B) #aTee % ATE

C) U F UTEA §

D) o= &t 7HTE a7

168) "orw" FT fAeTT erex AT g2
A) e
B) sRIF®
C) #fd

D) &7z
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169) 9 AT ATHAT 9T6% TAH & T AT 27

A) feTsTet
B) smear

C) erifer

D) stfaedt

170) Fter 3 & o e o o B o R s

A) T
B) s
C) ATAETg

D) |raTT

171) "aTT =ET BT A & Ry e g w1 =Tmw fikn -
A) ST fares T a T

B) @& ger

C)EFT'RTGTHTH%?IT.

D) i feamr

172) "arqe” =7 fein orez 7T 22

A) e

B) e

C) T

D) weaT

A) =T
By g

C) #rqa

D) sireft
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174) ‘99 =T & FH=1T T w=efa fm) e w5 o = e -

A) TTH FHATL F1 W= gom
B) =T & AR FH=TAT T TaekT g
C) FH=fray ¥ waekw BT
D) =T % o1+ Fo=ray 7 yada fFram

175) T + T it TR T i AT 9757 T4 2
A) ZATT
B) ZaTerT
C) FaTeT

-

D) =19

176) 'BLOCK’ %7 T4t sramerrAT ore 7t 2
A) HE

B) @uT

C) sravrg

D) ===

177) FHaT=T FT 27T E -

A) T T T

B) TS 7 T Al 7@

C) ST o FgreT TE

D) HSTT # g1 T AR e

178) TH FI AT ST AIE T 955 FAT T0AT T 751 87
A) HEA-HEA

B) #eoT-HETT
C) sremferm-Aerfas

D) STHTH-STHATS
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179) F7 ST FI 74T 21 st - v s
A) =&
B) ®re

C) e
D) g

180) 'URI’ T BT W & (Fo2e qaeieht o e 7T) —

A) P o;.,n—,:\!‘;'u

B) el frast sxdtare
C) gl e Twie
D) TRt e areedinre
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133, C 150. C 167. D
134. B ° 151. B 168. B -.
135. B 152. B 169. C
136. D 153. C 170. B
137. B 154, A 171. D
138. D D 172. B
139. C . D 173. D
140. D ; 174. D
41. D 158. D 175. D
142. C 159. A 176. B
143. B 160. C 177. C
144. A 161. B . 178. D
145. C 162. B 179. C
[46. D 163. A D
147. A 164. B

148. C 165. A

149. D 166. A
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